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If you will say by unspecified wine and this ship; if he - X927 81902
gave, why should he not take, let him say to him, bring me your
ship and I will bring wine

Overview

The X n3 cites a X012, which states if one rents a ship and it sunk midway, 101 "9
rules that if the renter paid the rental fee he cannot receive it back, but if he did not
pay the rental, he is not obligated to pay. The X723 asked the following; if the
owner said, ‘I am renting you this (specific) boat’, and the 72w said, ‘I need the
boat to transport (unspecified) wine’, so why is the ruling that if he paid, he cannot
take back his money, let the 121w say to the 7°2wn, ‘provide me with the (specified)
boat and I will bring (other) wine and have it delivered to my destination’. N921N
clarifies the s'%7723 question.

- 5H0% N 929 I BN 1PN KIN SINPT 11 XYY 1) XY ON ‘NI NY
There is no doubt (in this case) that if the 721w did not pay, that he need not
pay, as it states in the Xn»72, rather the X713 is asking, even if he paid already,

he should be able to go and take his money back from the >wn. The reason is -
- NNV 1 119D NYANY 9199 19X WNMY PP NXANY 9199 NTY 1S

Since this 71212 can bring (other) wine, but the 25w cannot bring this specified
boat which was stipulated, therefore he is not entitled to any payment.

mooIn anticipates a difficulty:
- 5919 5591Y YA KON 1Y 1PN *959Y 9INT XNY 9197 KDY

And this case (with the boat) is not similar to what the X713 said previously
(regarding the donkey) that the 7°2wn can claim, ‘if you would have needed to

come until here, etc. would you not have to pay’, therefore he is obligated to pay for half the
trip, so seemingly here too he should be required to pay for half the trip —

" See “Thinking it over’.

? The 79w said he wants to transport ano 7, so even though the wine on this ship sunk and is not available,
nevertheless he can claim. ‘I will bring other wine (since he said ano ).

? The 7"5wn on the other hand cannot fulfill his commitment to provide 17 1200 (which sunk), therefore he should
suffer the loss.

* The case there is where he hired a donkey and it died midway (like here by the boat); there 21 ruled that he must
pay for half the way (because of the s"1°2wn claim if you needed to come halfway you would have to pay), so here
too (by the 712°00) he should have to pay for half the way (because of the same claim >213 *n"% n°ya X377 73 12°X).
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mooIn responds that the two cases are entirely different:
- NNV DIPN 1Y ININ POIVNY 55‘,7:1 99°Y MY 2NN onNnY

For there (by the donkey), the 7°2wn benefitted the 1212, for the 7127 can easily
rent another donkey, from here (where the first donkey died) to the place where

he wants to go and sell his merchandise -
- %995 1YY NNND DY NanY IN

Or the 70w benefitted, for now he can sell his merchandise there (where the

donkey died) as I explained previously -
- 791915 1129 ¥V 1PNV 290 ANIY W XY XA YaN

However here it is not applicable to say this (that I brought you [at least] to this

place), for the wine sunk, so what can he sell. Therefore it is understood that the 13w
is not obligated to pay the ship-owner anything.

mooIn presents (and rejects) an alternate explanation:
= 19%1Y o0 NOY 7999 8N 99V DIV XY INNIN 7299 9917 WH9Y PN DaN

However one can cannot explain that this is what the X7n) is asking (when it
asked 710> X7 Rk 101 o), ‘why should he not take back the rent for the halfway

which the boat did not yet go there’ -
- %5505 XYW 199 XN T9N 929Y 7910 Y8N 99V YaN

However the rent for the half way which they already went, it is understood
that he cannot take it back —

mooIn rejects this explanation:”
= 7990 8N 99V IT2ON U5 IN° YV ¥IWNT INS XD 1N XY ON 1INPT NN 15 ONT

For if indeed this is so, this which the Xn>72 stated, ‘if the 721w did not yet give

> The xm3 actually said that it is >89 *9w XY, it is not feasible to rent (another donkey), however see 'o1n there 71"7
17X that this means he cannot rent a donkey for the same rate, however for a small increase he can find another
rental.

® On this 12°X 7"72 7MY [TIE see text there by footnote # 2 & 5].

7 mipoin distinguishes between the case of the 2mn, where the 79%w benefited (somewhat) from half the trip, as
opposed to the 1100, where he derived no benefit at all from half the trip since his wine sunk.

¥ According to this explanation it is understood why he is obligated to pay for the half way he already traveled, for
the owner can argue, 121 °>n°n? n°v1°371 7Y X', as we ruled regarding the donkey that he has to pay for half the way. [It
will be necessary to assume that the w157 1°X disagrees with '01n explanation in 12> 71"7 that the reason he has to pay
half the way is because the renter can either continue on his way and sell his wares or sell them here. Rather the X
w1oY takes these words of 131 X377 7v 72°X at face value (you hired a donkey to travel a certain distance, it turned out
you traveled only half; so pay for the half). This reasoning applies by a boat just as by the donkey.]

? mooin already rejected (in 1°X 71"7) the ‘face value’ interpretation mentioned in [the bracketed area of] footnote #
5. moon is adding that if for some reason we were to justify that reasoning, nevertheless the X773 here would be
inconsistent.
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the rental payment, he should not give it’, which indicates that he should not
pay anything at all, even the payment for half the way; so according to the w15% Px

1999 157 R ONAN MIYPNRY 19T 1N
The X3 should have asked why should he not give anything; he should have to

pay for the first half of the way?!lo Since the X713 does not ask it, this proves that the X713 never
assumed that there is justification (in the case of a 71°00) that he should pay for half the way.

Summary
Paying for half the way is justified only if the renter benefited from it (as in the

case of the mmn), but not if no benefit was derived (the sunken wine in the 77°90).

Thinking it over
What does n901n want with his opening remark'' of 121 ®°va'n 85?2

' The w19 PX assumes that it is a given that he has to pay for the half way which he traveled.
' See footnote # 1.
12 See mar7 PR,
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